L' ﬁ. V!Bﬁ '0. 1

EASTMAN SURVEXS:

300" = 1/4 dege 8174 = 1-1/2 dege
600' = 0 deg, 8215 - 1-1/2 deg,
1010 = 1/ dega 8300' - 1-3/4 dego
lhkh? = 1/4 doge 8475 ~ 1-1/4 dego
1724% « 1/k dege 85487 « 1-3/4 deg.
2008 ~ 3/i degs 710" - 1-1/4 deg,
2275' - 1/2 deg, 879 - 1-3/4 deg,
2360 - 1/2 dego 8859' ~ 1-1/2 deg.
2842 - 1/ doge 8960 - 1.1/2 deg,
3120° « 3/4 dege 91007 - 3/L deg,
3430' = 1-1/2 dege 9150' « 1 deg,
3557 - 1-1/2 dege 92751 « 3/4 deg,
3700 « 1-3/4 dege 9630 - 1/2 deg,
3800t = 1-3/4 deg, 9830 « 3/i dege
3858t - 1/4 dege 9982 - 1 degs
3890 - 1-1/2 dega 10074% = 3/4 dege
3960¢ « 1-1/2 dega 102047 = 3/4 deg,
DSLY « 1-1/A dege 1020 « 1/4 deg,
4113% « 1-1/2 dege 10350* ~ 1/2 deg,
h195' - 1-1/4 dege 10415 = 1/i deg,
L265¢ = 3/4 deg, 10475' - 1-1/4 dego
hh2h? = 1/2 deg, 10520t « 1-1/k deg,
h595 = 3/4 dege 10612 = 1.1/4 deg,
4750' - 1/2 dege 10700 1-3/4 dego
5060 - 3/4 deg, 108257 « 2 deg,
5490' ~ 1/ degs 10868' - 2 deg,
S700" - 1 deg, 10885' - 2 deg,
5987 - 3/h dege 10970 « 2 deg,
6140" - 3/A deg, 10965 - 2 deg,
6385 - 1 deg, 11070'- 2

646007 - 1 dego 11135 « 2-1/2 deg,
6728 - 1-1/2 deg, 11162 - 2-1/4 deg,
6914 « 1-1/2 dege 115" « 2-3/4 dog,
70650 - 1-1/2 deg. 11270 - 2
789" « 1-1/2 deg, 11300 - 2-3/4 deg,
348! = 1-1/2 deg, 11330% 2-1/2 dege
Th06! - 1-1/2 dega 11357 = 2-3/A dego
7498 - 1-1/L dego 11368 « 2.3/p

! = 1-1/h dego 11384° = 2-3/4 deg,

T135" « 1-1/4 doge 11500% - 3



